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Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 998367947
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 99836717699 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
From the given alternatives, select the word which CAR bhe formed using the letters of the Ziver word,

YERMICODPOST
Options:

1. * VERMY

2. ¥ CODER

2. % POSTAR

4. % COMPUTER

Question Number : 1 Question Id : 99836717699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tou mr Eereut # & ag seg giT ST T30 ™ sfeq & SraRt @ ORI @Gy ST ST AT Bl

YERMICOLPOST
Options:

1. * VERMY

= ¥ CODER

3. % POSTAR

4 % ZOMPUTER

Question Number : 2 Question Id : 99836717700 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the related letters from the given alternatives.

AT WC D MT o 7
Options:
1. % IR
2 ¥ P
3. % JP
4 %[O

Question Number : 2 Question Id : 99836717700 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
FaimET v | o my Hwedt o & Fetea srart w g

LG WC o MT . 7
Options:



1. ¥ IR
2 ¥ P
3. % JP
4. % O

Question Number : 3 Question Id : 99836717701 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the related letter pair from the given alternatives.

ToOM - RLI 7Y
Options:

1. % HAR : F¥M
2 % LOP: JLM
3. % GAF : EXM
4 % MIN : KF]

Question Number : 3 Question Id : 99836717701 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TrafertaT wa # fom iy Foereat & & ST aryw g @t giim
TOM RLI 7

Options:

1. ¥ HAR : FEM

2. % LOP: LM

3. % GAFP : EXM

4. % MIN : KF]

Question Number : 4 Question Id : 99836717702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the fOllOWiﬂg question, select the related word pair from the Ziven alternatives.

Figure : Ehombus o Y
Options:

1. ® Colour : Wood
= % Red: Colour

2. % Furniture : Chair

4. % Figure : Four

Question Number : 4 Question Id : 99836717702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
PrafafaT wa #f fag iy et & & G seg g @t R

ATFT : T 7
Options:

1. % @ Awar

o 8 AT



3. ¢ gfET
4 % gl AR

Question Number : 5 Question Id : 99836717703 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, MUG" is written as ‘41’, "CAP’ is written as 20", What is the code for 'HAT’ in that
code language?

Options:
1. % 28
= ¥ 23
3% 27
4 % Z1

Question Number : 5 Question Id : 99836717703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

U e #E 9T H MUG #1041 TErAET s, (CAP 20 FRETAET R 59 FiE AT H HAT T HIE 79T 57
Options:

1. % 28

2 ¥ 29

3w 27

4 % 31

Question Number : 6 Question Id : 99836717704 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, FORGIY' is written as 'KTWZEC'. What is the code for "GAPUPS’ in that code
language?

Options:

1. % LFUNIL
2. % ZFUNIL
2% MGVO]M
4. % ZGVO]M

Question Number : 6 Question Id : 99836717704 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
U e wE 9w # FORGIV @ KTWZIEC' T7ar IET 8 56 &g 9T # ‘GAPUPS & ®i 4T 57

Options:

1. ¥ LFUNIL
2. % ZFUNIL
2% MGWVO]M
4. % ZGVO]M

Question Number : 7 Question Id : 99836717705 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Six sisters C, J, N, P, R and T are standing in a row facing towards north. P is second to the right of T. R is
second to the left of M. C is to the immediate left of P. ] is third to the right of C. Who is standing third to the
right of P?

Options:
1.%T
2. % C
2% ]
4 W I

Question Number : 7 Question Id : 99836717705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks:I0.25

T KT I o T At b
Options:

1. T

2. % C

2% ]

4 ¥ 1

Question Number : 8 Question Id : 99836717706 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question below are given some staternents followed by some conclusions based on those
staterments. Taking the given statements to be true even if they seern to be at variance from commonly knowrl
facts. Read all the conclusions and then decide which of the given conclusion logically follows the given
Staternents.

Statements:
I. &1l Hare W,
II. Some Ware .

Corclusion:

I. Some E are H.
II. Some B are W,
III. Some Ware H.

Options:

1. % Only conclusion IT follows.

2. % Only conclusion IT and I follows.
2. % Only conclusion I and T follows.

4. % MNeither Conclusion follows.

Question Number : 8 Question Id : 99836717706 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % el Tmepy 11 ST e #aT gl

2. e Teea 11 20T 111 STeeT &aT gl
3 % o Tmad 1 39T SIgER #aT &l
4 % i ot Fmand ergat Tg1 Far a1

Question Number : 9 Question Id : 99836717707 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the missing nurmber from the given series.

1=z, 14, 27, 41, 68, 7
Options:

1.9 109

2. % 119

2% 108

4 % 110

Question Number : 9 Question Id : 99836717707 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Toafeiae wa o 1 e afme # 4§ o i S H
13, 14, 27, 41, 68, ¥

Options:

1.9 1049

2. % 119

2% 108

4 % 110

Question Number : 10 Question Id : 99836717708 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the fOllOV-.?iﬂg question, select the related rnurmber from the Ziven alternatives.

4312677
Options:
1.9 36
2. % 22
3% 34



4. % 40

Question Number : 10 Question Id : 99836717708 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tt we # fau 0 feeweut # 4 Heldd g w i g
4312677

Options:

1. ¥ 36

> ® 22

3. % 34

4. % 40

Question Number : 11 Question Id : 99836717709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
By interchanging which two numbers the equation will be correct?

T4+ 2 xEe+4-7 =8
Options:

1. % Zand 3

2 % 4and 3

2 % dand 7

4 % 4and 2

Question Number : 11 Question Id : 99836717709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ToreT 2F EeeTalf @ 0 H ET e UE aHIE dal 5T STy
3+ZxE6+4-7=58

Options:

1. % Z2qumz3

2. % 493

3% ATy

4 & 43972

Question Number : 12 Question Id : 99836717710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ev interchanging the given two signs which of the following equation will be correct?

+and -

Options:

1. % 13+2x6+11-3=47
Z W11+ 16x4+2-14=2%9
2% 10x2+54+12-11=5
4. # 394+43-11+2x12 =18



Question Number : 12 Question Id : 99836717710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Teu T 2 gt T § T aga 0F T | # i AT AH I |5 gy

+ T -

Options:

1. ¥ 12 +2x6+11-32 =47
2 ¥ 11+ 16x4+2-14=2%9
3% 10x2+5+12-11=5
4 #394+42-11+-2x12 =18

Question Number : 13 Question Id : 99836717711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the number which can be placed at the sign of question mark (7) from the
giverl alternatives.

6 4 8
8B172|7(16190]3]]19]|7]2
3 5 3

Options:
1. ¥ g6
= % 3B
3. % 76
4. % B8

Question Number : 13 Question Id : 99836717711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaieraT ug o fou my fEweut & & we ey (7) 3 S U &7 FTe T 6T @ g

6 4 8
81721 7116190[ 3|9 7|2
3 5 3

Options:
1.9 66
= % 3B
3. % 76
4. % B8

Question Number : 14 Question Id : 99836717712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If '+ means "=, "x' means -, '~ means "x and '+ means ‘+,then 72 - 31 4+ 13-39 x 21 =7
Options:

1. % 135



2. % 155
3. % 125
4. ¥ 145

Question Number : 14 Question Id : 99836717712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o+ wrapf -, e mmerf -, wapf o T s W P EL AT F3 - 314+ 13-39 %21 =7

Options:

1. % 135
= % 155
3. % 125
4 ¥ 145

Question Number : 15 Question Id : 99836717713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the diagrarn that best represents the relationship among the given classes.

Teacher, Lawyear, Wiood
Options:

Qo

O
Q@D

o
52

Question Number : 15 Question Id : 99836717713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TE W - AT Al T T AT o s o Herel &1 a1 e HedT o)

Options:



M
5

&

O

L
51

O
QD

Question Number : 16 Question Id : 99836717714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

F4 is towards the north of PE. PE is towards the south - east of PS. P1 is towards the west of P2, PZ is towards
the north of P4, If P7 is towards the east of PE, then F7 15 in which direction from P17

Options:

1. * MNorth - west
= % South - west
3. ¥ South - east
4. % North - east

Question Number : 16 Question Id : 99836717714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

P4, PS &% 3% @1 51 81 P6, PS & Si&0T - U &1 & 31 P1, P3 & Ul &1 &T 81 P3, P4 % Jo¢ & & g1 Tig P7, PS & O &
AT E TTP7, P1 & Ty fEam # 87

Options:

1. % % - ukem
o % ZTE - ok
3. i - g
4 8 F - U

Question Number : 17 Question Id : 99836717715 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



What will come opposite to face containing *9°7

9
A|l7]|6|D
8

Options:
1. % ¢
2. ¥ 5
3 0% 4
4 % D

Question Number : 17 Question Id : 99836717715 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘Y I TR O [0 T ST

Options:
1. % ¢
2. ¥ 5
3 0% 4
4 % D

Question Number : 18 Question Id : 99836717716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the odd figure from the given alternatives.

Options:
000
OO0

L« |@A®
@AO
L 20d

., 000
00
QA




| 1019,
o0
0o

4 &

Question Number : 18 Question Id : 99836717716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tl na & o my Resdt # & By syl @ g

Options:

eCe| [Cee| [@0Oe@
O>0O| @O OO
o0 90 |he0| (@0

t
i

L 1010,
0]>4®)

4 <

Question Number : 19 Question Id : 99836717717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the figure which can be placed at the sign of question mark () from the given
alternatives.

J(I}{ J{I ){||
XOX| | X

11
Ol

[ Qo

>
3

@

Options:

X
L0 x

i




| | X
O X
_— | |
| O X
| X X
4. ® X X

Question Number : 19 Question Id : 99836717717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT ng | Ty W ferent # 8 we ey (7) o ST U ST TR ST g

X X |X X I
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Options:

X |
1.«-:*"&")(

L
B

xXx0O
X X X

o
5

Question Number : 20 Question Id : 99836717718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
From the given answer figU.I'ES, select the one in which the question figure is hidden | embedded.

rﬁ:l

Options:




\..r""'f"""
o

. u
B
=z # L1 |
4 ®

Question Number : 20 Question Id : 99836717718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

&1 ME Fo sl # ¥ 39 I sngia w1 gy R # wey gl Fafgw B

rﬁ‘.‘i

Options:
1 ®
\fﬁ"‘
2. ¢
- u
:=m =
5 ® | |
4 ®




General Awareress

Group Number : 2
Group Id : 998367621
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awarernsss

Section Id : 998367742

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section 1d: 998367948
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 99836717719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Darra, a type of music instrument, is associated with which state?

Options:

1. ® West Bengal
= % Harvana

2. * Punjab

4. ¥ Meghalava

Question Number : 21 Question Id : 99836717719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TTHT, U T o STt arers, T o & araied &7
Options:

1. % gl S

2. % gl

z % g9

4 fEE



Question Number : 22 Question Id : 99836717720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Kajri,a type of folk song, is associated with which state?

Options:

1. % Jharkhand

2. % Madhva Pradesh
3. ¥ Uttar Pradesh

4. # Rajasthan

Question Number : 22 Question Id : 99836717720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tt ], T WeR L o1 A1 1119, Tohel Tl & THalreld 57

Options:

1. % ZnEs
. % mrues
3 ¥ T WA
4. ® TR

Question Number : 23 Question Id : 99836717721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ dance belongs to Gujarat.
Options:

1. % Sattriva

2. % Lavani

3. # Giddha

4 % Bhawvai

Question Number : 23 Question Id : 99836717721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ T T #

Options:

1. % glem

2 % FTEi

3. % Ty

4 & g

Question Number : 24 Question Id : 99836717722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Expenditure by government is expressed as

Options:

1. ¥ GDF Percentage

2. # Health Percentage
3. % Subsidy Percentage

4. #® Percentage of Resources



Question Number : 24 Question Id : 99836717722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ST TR THIT = ¥ = # =R T AT

Options:

1. & S widea

2. ® T gideT

3. ¥ Asr aidaT

4. ® FameAl @1 AT

Question Number : 25 Question Id : 99836717723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
who formulate the Monetary Policy?

Options:

1. % Ministry of Finance

2. % State Bank of India

3. ® NABARD

4 ¥ Reserve Bank of India

Question Number : 25 Question Id : 99836717723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ty ST I w27

Options:

1. ® foa g3

o ® qEig e dw

3 % e

4, Rty foad g

Question Number : 26 Question Id : 99836717724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is not a marmnmal?

Options:

1. ¥ Salarmander
2 % Bats

2. * Humans

4 * Lions

Question Number : 26 Question Id : 99836717724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o & & =17 waemr 751 27
Options:

1. ¢ dmmzt

= % gHES

3. % Ag=



4. % g7

Question Number : 27 Question Id : 99836717725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The centre of the cyclone, which 1s calml 15 knowtl as

Options:
1. ¥ Centre

2. ¥ Eye
2. % Hole

4. % Zero point

of the storm.

Question Number : 27 Question Id : 99836717725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TN T S, AT AT EAT e, TEEF ______ B AT T AT E
Options:

1. % 3=

2 ¥ g

3 % g

4. % g feg

Question Number : 28 Question Id : 99836717726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Garnga originates from ____
Options:

1. ® Yarmunotri glacier

2. % Alaknanda

2. ¥ Gangotri glacier

4 % wWestern Ghats

Question Number : 28 Question Id : 99836717726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T # ForerdT

Options:

1. % T mider
2. % arAd-ar

3. T Wi
4. % gEoHTEE

Question Number : 29 Question Id : 99836717727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
S0il is characterized on the basis of which of the following?

I. Texture
II. Colour
III. Slope



Options:

1. ¥ landll

Z % Il andl
3. % [TandIll
4. % 1,11 and III

Question Number : 29 Question Id : 99836717727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tt @1 Fmfead # & freer s o ot fem smar 82

L. T
IL. 4T
I ZT

Options:

1. % 134Tl

= % 111 Tl
3% 11 q9mIIl
4. % 1 11 g9l

Question Number : 30 Question Id : 99836717728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Banihal Fass is on which Hirmalayan Eange?

Options:

1. % Zojila
2. % Pir Parjal
2. % Ladakh
4. % Zaskar

Question Number : 30 Question Id : 99836717728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AETe X TemTer 1 TR ST W 87
Options:

1. % FrTa

2 ¥ O 0T

3. % WEE

4. % FEEET

Question Number : 31 Question Id : 99836717729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Shantiniletan Ashram was started by

Options:

1. % Lala Lajpat Eai

2. % Debendranath Tagore
2. % Bal Gangadhar Tilak
4. % Mahatma Ghandi



Question Number : 31 Question Id : 99836717729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR Ree=T ST &1 [5arTa EETE:]

Options:

1. ® F:T W T
= W SEEATT ST

3. ¥ g TR e
4, % mEreT TRt

Question Number : 32 Question Id : 99836717730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
who among the following led a tribal struggle?

Options:

1. % Mahatma Gandhi

2. % Subhash Chandra Bose
2. # Khan Abdul Gaffar Khan
4 % Alluri Sitararn Raju

Question Number : 32 Question Id : 99836717730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 33 Question Id : 99836717731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
YVedic Hyrmmns are called _____ .
Options:

1. % Rishis

2. % Mantras

3. ¥ Suktas

4 ® Arya

Question Number : 33 Question Id : 99836717731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 34 Question Id : 99836717732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
who amongst the following won Padma Vibhushan Award 2018 in the field of art - music?

Options:

1. % Damodar Ganesh Bapat
2. % Somdev Devvarmarn

2. ¥ [llaivaraja

4. % Murlikant Petlar

Question Number : 34 Question Id : 99836717732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % ZTHiET MO ST
2. % gmdg daana
3. ¥ ToET

4 % PATHT UTHT

Question Number : 35 Question Id : 99836717733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
____wor the Ramon Magsaysay Award in 2018,

Options:

1. ¥ Sonam Wangchul

2. % Thodur Madabusi Krishna
3. # DMeelima Mishra

4. % Sanjiv Chaturvedi

Question Number : 35 Question Id : 99836717733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 36 Question Id : 99836717734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The President shall hold office for a term of ToArs,

Options:
1. % 7

2. % 10



3.¥5
4 % 3

Question Number : 36 Question Id : 99836717734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. %7
2. % 10
3.5
4. % 3

Question Number : 37 Question Id : 99836717735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
carl arnend the Constitution,
Options:

1. #¥ Prime Minister

2. % Parliament
2. % High Court

4 * Vire President

Question Number : 37 Question Id : 99836717735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 38 Question Id : 99836717736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ir1 which vear was the 42nd Constitutional Amendrment Act passed?

Options:

1. ¥ 1978
= % 1990
3. % 1942
4 % 1375

Question Number : 38 Question Id : 99836717736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1.9 1976



2. % 1990
3. % 1942
4. % 1975

Question Number : 39 Question Id : 99836717737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

who of the following was awarded with Rashtriva Khel Protsahan Puruskar 2018 in the Category of Sports for
Developrnent?

Options:

1. ¥ Isha Cutreach

2. % ]5W Sports

2. # Rashtriya Ispat Nigam Limnited
4. % Sports

Question Number : 39 Question Id : 99836717737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. 29T saeeiT

2. ® SUEerg T
3. ® I s Tame RieE
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Question Number : 40 Question Id : 99836717738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which cricketer was awarded with the Rajiv Gandhi Khel Ratna in 20157

Options:

1. # Sachin Tendullkar
2. ¥ Virat Kohi

3. % K.L. Rahul

4. % Rishabh Pant

Question Number : 40 Question Id : 99836717738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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4. % FEIUT

Arithrnetic Ability
Group Number : 3



Group Id : 998367622

Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithrnetic Ability

Section Id : 998367743

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 998367949
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 99836717739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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What is the valueof: | 2 , = _ = L
5 b6 @) 313
Options:

—11

1 o 288

3. % 30
4. % 45

Question Number : 41 Question Id : 99836717739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Options:



—-11

|« 288

-1
o ® 720

= % 30
4. % 45

Question Number : 42 Question Id : 99836717740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Arrange the following in the ascending order:

Options:

1.

3 ¥

Question Number : 42 Question Id : 99836717740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 43 Question Id : 99836717741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

i 3
(2 %,,-{2401}3)3+(3:.fﬁf
What is the value of: :
81%
Options:
3
1 ® s
2 % 3
3¢5
1
4 # 15

Question Number : 43 Question Id : 99836717741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 44 Question Id : 99836717742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The average age of a man and woman is 30 years. After 2 years the age of woman will be 27 years. What is the
present age of man?

Options:

1. % 32 vears
2. ® 25 vears
3. ¥ 35 vears
4. # 30 vears



Question Number : 44 Question Id : 99836717742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % z309q

2 % ooy

3 ¥ 35Ty

4 ® =209

Question Number : 45 Question Id : 99836717743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The average of 3 consecutive even numbers and 3 consecutive odd numbers is 19.5. If the average of the even
numbers is 18, ther what is the average of odd numbers?

Options:
1. % 24
2. % 25
3. ¥ 23
4 % 245

Question Number : 45 Question Id : 99836717743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % 24
2. % 25
3.9 23
4 % 245

Question Number : 46 Question Id : 99836717744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In an exam, REam got 20 percent less marks than Shyam. If Ram got 160 marks, then how much did Shyam
get’?

Options:

1.9 200
2. % 180
3% 192

4. % 130

Question Number : 46 Question Id : 99836717744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1.9 200



2. % 180
3% 192
4. % 190

Question Number : 47 Question Id : 99836717745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In a class the number of girls and boys are 500 and 400 respectively. If 40 percent of girls and 25 percent of
boys fail in a test, then what percentage of the total students passed in the test?

Options:

1. ¥ EE 66 percent
2. % B0 percent

. % GZ percent

4 % G5 percent

Question Number : 47 Question Id : 99836717745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 66.66 uideaT
2. % g0 uidaT

3. % 53 Ui

4 ® &5 gidad

Question Number : 48 Question Id : 99836717746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The population of a town decreases by 10 percent every vear. If after 2 years, the population is 7290, then
what was the population in starting?

Options:

1.9 10000
2. % 10500
2% 10400

4 % 11000

Question Number : 48 Question Id : 99836717746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Options:

1.9 10000
2. % 10500
2% 10400
4 % 11000

Question Number : 49 Question Id : 99836717747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

A purchased a boolk and sold it to B at 10 percent profit. B sold the book to C at 20 percent loss. If C paid Rs.
264 for the book, then at what price & purchased the book?

Options:

1. * Rs 280
2. % Rz 300
2. % Es 3205

4 % Hs 290

Question Number : 49 Question Id : 99836717747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 280w
2. ¥ 300 T
3 % 205w
4. % 290 w

Question Number : 50 Question Id : 99836717748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If 34 = SEand 44 = 3C, what is 2B {C[2)7
Options:

1. % 49:2

2% 5.9

=% 11:9

4 ¥ 9:5

Question Number : 50 Question Id : 99836717748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1.% 9:2

=

I % 119

4 9 9.5

Question Number : 51 Question Id : 99836717749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Akash started his business with an amount of Bs. 12,000, After 5 months, Akhil joins the business and
invested sorne armnount. After one year, Akash and Akhil share the profit in the ratio of 9 7 respectively. How
rmuch amount did Alkhil invest?

Options:
1. % Es 10000
2 % Rs 15000



3. % Rs. 16000
4 % Hs 12000

Question Number : 51 Question Id : 99836717749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 743 10000
2. % = 15000
3. ¥ w0 16000

4 % B 12000

Question Number : 52 Question Id : 99836717750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The price of a diameond is directly proportional to the square of its weight. The diamond breaks into = pieces
whose weights is inl the ratio of 2 5 & Due to this, a loss of Es. 3,15,000 is incurred. What was the actual
price of diamond?

Options:

1. % ERs. 400000
2. % Rs 280000
3. ¥ Rs. 430000

4. % Hs 4c0000

Question Number : 52 Question Id : 99836717750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 400000 ¥0
2. % 3IR0000 T
3. ¥ 490000 TR
4. % 460000 T

Question Number : 53 Question Id : 99836717751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A sum of Rs. 500 becomes Rs. 600 in two yvears at the rate of simple interest. What is the rate of interest per
Arnuy

Options:

1.9 10 percent
2. % 20 percent
2 % 15 percent
4. % 12 percent

Question Number : 53 Question Id : 99836717751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. 10 nfdem
o ® condeaT
3. % 15 uidea

4 ® 12 udaT

Question Number : 54 Question Id : 99836717752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Two trains are runmning in same direction at speeds of 35 kmjhr and 40 km/hr respectively. Faster train
crosses the slower train in 12 minutes. If the ratio of the length of faster train and the slower train is 3 © 2,
then what is the length of slower train?

Options:

1. % 500 metre
2. % 400 metre
2. % 500 metre

4. % 200 metre

Question Number : 54 Question Id : 99836717752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T CATTET |AT T # 0 35 1o 1Y 5eT 3907 40 81 (92T &1 1 & S 1 81 39 et ot wmst &1 12 e # o
TFAT g AT o LTS T2T e FATST &l ATas & ST FHE 3 0 2 8, a7 &ffe =T & AT T 57

Options:

1. % 500 Hlex
2. ¥ 400 Aiex
= ® 500 Akx

4 # 300 d@RY

Question Number : 55 Question Id : 99836717753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

20 employees are given a project which they hawve to complete in 90 days. But, after 45 days, only 40 percent
of the project is completed. How many more employess are required to complete the remaining project on time?

Options:
1. %8
2. ¥ 10
3% 12
4 % 4

Question Number : 55 Question Id : 99836717753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % 8
2. % 10



z % 12
4. % 4

Question Number : 56 Question Id : 99836717754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& and B can do a piece of work in & days, Eand C can doitin 7 daysand 4 and Ccan doitin 12 days. A is
how ruch percent more efficient than C7?

Options:

1. % 100 percent
= ¥ B0 percent
3. % 150 percent

4. % 90 percent

Question Number : 56 Question Id : 99836717754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. ¥ 100 uidsa

o & 30 uldaT
3 ® 150 Ui
4 # g0 uigaT

Question Number : 57 Question Id : 99836717755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If the ratio of edges of two cubes is /2 : 1, then what is the ratio of the volume of the two cubes?
Options:

v 221

2 %$3:1
3% 201
4 % 4:1

Question Number : 57 Question Id : 99836717755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Options:
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4. % 4:1



Question Number : 58 Question Id : 99836717756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Length of a cuboid is 30 crm. If its breadth is half of the length and height is 12 crm, then what is the volurme of
cuboid?

Options:
1. % 4500 cm
2 ¢ 5400 cm 2

2 % 5200 cm ?
3

3

4 % SEO0D cm

Question Number : 58 Question Id : 99836717756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
U T &1 dele S0 ® AT 31 Ji see ! DisTe, dee @l H7eil § g9 A 12 S8 8 I1 59T @ S a F 4T 57

Options:

1. % 4500 #dt
2. ¢ 5400 &4t °
3. % 5200 &4t 2
4. % sgoo &4t 2

Question Number : 59 Question Id : 99836717757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The table given below shows the number of books sold by the person in various months of the year.

Months Number of book sold
M1 600
M2 580
M3 620
M4 640
M5 630

The MNumber of books sold by person in month M1 is how much more than the number of books sold in M2?
Options:
1.9 20

2. % 40
3. % 320
4. % 10

Question Number : 59 Question Id : 99836717757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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M1 600
N2 580
M3 620
M4 640
NS 630

ot ET M1 W Akl v Rt o e M2 wg i e v Rt i dea & Rrae arfie 2
Options:
1.¢ 20

= ® 40
=z % 30
4 % 10

Question Number : 60 Question Id : 99836717758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The line graph given belcw shows the nurmber of cars parked in a parking area in various mornths.

450 -
400 -
350 1
300 A
250
200
150
100
50 4
u T L]
Ml M2 M3 M4 MS

Num ber of car parked

Month

What is the dverdge of the number of cars pElI‘kEd inn meonths M1, M2 and ME?
Options:

1.9 260

o % p5g

3. % 253

4 % 259

Question Number : 60 Question Id : 99836717758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1.9 260
2 ® ocg
3. ® 253
4 ® 259
eneral English
Group Number : 4
Group Id: 998367623
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
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Display Number Panel: Yes

Group All Questions: No



Sub-Section Number: 1
Sub-Section 1d: 998367950
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 99836717759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

I hawve lost (1) | the watch (2) [ that you gave me (3) | No error (4)
Options:
1.%1
2. w2
3% 3
4 ¥ 4

Question Number : 61 Question Id : 99836717759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the givenl sentence that has an error in it. If there is no error, choose Mo error’.

[ hawe lost (1) [ the watch (2) [ that vou gave me (3) | Mo error (4)
Options:
1.%1
2 w2
3% 3
4 ¥ 4

Question Number : 62 Question Id : 99836717760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

Eefore you tell (1) [ me a truth, (2) [ [ shall punish vou (3) [ No error (4)
Options:
1.% 1
2. V2
=% 3
4 % 4

Question Number : 62 Question Id : 99836717760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Eefore you tell (1) [ me a truth, (2) [ [ shall punish you (3) [ Mo error (4)
Options:
1.% 1
2. V2
3. %3
4 % 4



Question Number : 63 Question Id : 99836717761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

He deserved to succeed, for he (worlss) hard.
Options:

1. % work

2. ¥ yorked

3. % working

4. % Mo improvernernt

Question Number : 63 Question Id : 99836717761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

He deserved to succeed, for he fworlss) hard.
Options:

1. % work

z ¥ worked

3. *® working

4. % No improvernernt

Question Number : 64 Question Id : 99836717762 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[rnprove the bracketed part of the sentence,

I cannot give you (any) money, for I have none.
Options:

1. % some

2 % less

3. #® fow

4. % No improvernent

Question Number : 64 Question Id : 99836717762 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

[ cannot give you (any) money, for [ have none.
Options:

1. % some

2. % less

3. few

4.9 Mo improvernent

Question Number : 65 Question Id : 99836717763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
A sentence has been givernl with a blank to be filled with an appropriate word. Choose the correct alternative,

[t 15 a rmiserable thing to live
Options:
1. % on

Zo%in
= % for
4. # heside

SUSPErse.

Question Number : 65 Question Id : 99836717763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

It is a miserable thing to live SUSPETISE.

Options:
1. % on

Zo%in
3 % for

4. # heside

Question Number : 66 Question Id : 99836717764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled parts. Out of the four options given, select the most logical
order of the parts to form a coherent sentence.

F: wvase broken

- enterad the room
E: he saw the

5 when he

Options:

1. % 5POR
2. % SROP
2. % SPRO
4 % SORP

Question Number : 66 Question Id : 99836717764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled parts. Out of the four options given, select the most logical
order of the parts to form a coherent sentence.

F: wvase brolken

: entered the room
E: he saw the

5 whern he

Options:
1. % SPOR
2. % SRGQFP



3. % SPRQ
4 ¥ SORP

Question Number : 67 Question Id : 99836717765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
—hoose the word that means the same as the given word.

Desxcterity
Options:

1. % Delight

2. * Ineptitude
3. % Inelegance

4. % Finesse

Question Number : 67 Question Id : 99836717765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“hoose the word that means the same as the given word.

Drecterity
Options:

1. # Delight

Z % Ineptitude
3. #® Inelegance

4. Finesse

Question Number : 68 Question Id : 99836717766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that reans the same as the given word.

Desolate

Options:

1. ¥ Melancholic
=z % Jovful

3. ® Optirmistic
4. % Delighted

Question Number : 68 Question Id : 99836717766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that means the same as the given word.

Desolate
Options:
1. % Melanchaolic

2. # Jovful
3. ® Optrmistic
4. # Delighted



Question Number : 69 Question Id : 99836717767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is incorrectly spelt. Choose the incorrectly
spelt word.

Options:

1. # Significant
Z ¥ adherant
2. % Relevant

4. % Redundarnt

Question Number : 69 Question Id : 99836717767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is incorrectly spelt. Choose the incorrectly
spelt word.

Options:

1. % Significant
2. ¥ Adherant
2. % Relevant

4. % Redundant

Question Number : 70 Question Id : 99836717768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word i3 incorrectly spelt. Choose the incorrectly
spelt word.

Options:

1. * Granule
2. % Molecule
2. % Capsule
4. % Shedule

Question Number : 70 Question Id : 99836717768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is incorrectly spelt. Choose the incorrectly
spelt word.

Options:

1. * Granule
2. % Molecule
2. % Capsule
4. % Shedule

Question Number : 71 Question Id : 99836717769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
word,

Options:



1. ¥ Absorbent
= % Facisnate
3. % Beficient
4. % Rehersal

Question Number : 71 Question Id : 99836717769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
WOTrdl.

Options:

1. % Absorbent
2. ® Facisnate
3. % Beficient

4. % Rehersal

Question Number : 72 Question Id : 99836717770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blank with the best suitable option.

when [ was introduced to Abhay, he displayed a to me.
Options:

1. % Cold feet

= % Cold shoulder

3. % A dark house

4. % A dark letter

Question Number : 72 Question Id : 99836717770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in1 the blanls with the best suitable option,

When I was introduced to Abhay, he displayed a ______ 1o me.

Options:
1. % Cold feet

2. % (Cold shoulder
2. % 4 dark house
4 % A dark letter

Question Number : 73 Question Id : 99836717771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

A snake in the grass
Options:
1. % Tolose one's ternper

2. % A morale booster



2. % To talk about office

4. % Cne who attacks at an unexpected tirme

Question Number : 73 Question Id : 99836717771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

A snake in the grass
Options:

1. %* Tolose one's ternper
2. % & morale boostar

3. % Totalk about office

4. % Cne who attacks at an unexpected tirme

Question Number : 74 Question Id : 99836717772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the Ziven sentence.

A speech made without preparation
Options:

1. % Externpore

Z % Euthanasia

3. # Ponology

4 #® Conservative

Question Number : 74 Question Id : 99836717772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

A speech made without preparation
Options:

1. ¥ Externpore

2. % Euthanasia

2. % Ponology

4 # Conservative

Question Number : 75 Question Id : 99836717773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that can substitute the given senternce.

To destroy Ccorrpletely
Options:

1. % Convoy

2. ¥ Annihilate

= #* Alliteration



4, % Drowrl

Question Number : 75 Question Id : 99836717773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

To destroy completely
Options:

1. % Convoy

2. % Annihilate

== Alliteration

4 % Drowr

Sub-Section Number : 2
Sub-Section 1d: 998367951
Question Shuffling Allowed : Yes

Question Id : 99836717774 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Juestion Label - Comprehension

Eead the following information carefully and answer the given questions:

Eeith Rupert Murdoch is an Australian-born American media mogul who founded MNews Corp Murdoch's
father, Sir Keith Murdoch, was a reporter and editor who became a senior executive of The Herald and weeldy
Times publishing company, covering all Australian states except New South Wales. After his father's death in
1952, Murdoch declined to join his late father's registered public company and created his own private
cormpany, News Limnited.

In the 19505 and 1960s, Murdoch acquired a number of newspapers in Australia and MNew Zealand before
expanding into the United Kingdom in 19649, taking over the News of the World, followed closely by The Sun.
Inn 1374, Murdoch mowed to MNew York City, to expand into the 1.5, market; howeyer, he retained interests in
Australia and Britain. In 1981, Murdoch bought The Tirmes, his first Eritish broadsheet and, in 1985, became
a naturalized 1.5, citizen, giving up his Australian citizenship, to satisfy the legal requirement for 11.5.
television network ownership.

Inn 1336, keen to adopt newer electronic publishing technologies, Murdoch consolidated his UK printing
operations in Wapping, causing bitter industrial disputes. His holding company Mews Corporation acouirad
Tweentieth Century Fox (1985), HarperCollins (19849), and The Wall Street Journal (2007). Murdoch formed the
Eritish broadcaster ESkyE in 1990 and, during the 19905, expandead into Asian networks and South Armnerican
telesrision. By 2000, Murdoch's News Corporation owned over B00 corrpanies in more than 50 countries, with
a net worth of over $5 billion.

In July 2011, Murdoch faced allegations that his companies, including the News of the World, owrned by MNews
Corporation, had been regularly hacking the phones of celebrities, rovalty, and public citizens. Murdoch faced
police and government investigations into bribery and corruption by the British government and FEI
investigations in the 11.5.

Sub questions

Question Number : 76 Question Id : 99836717775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which vear did Keith Rupert Murdoch’s father die?

Options:
1. % 1950
2 W 1952



3. % 1953
4 % 1951

Question Number : 77 Question Id : 99836717776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Marme his owrl created private company.

Options:

1. # The Herald

2. % News Corporation
3. ¥ News Lirmited

4. % INo option is correct

Question Number : 78 Question Id : 99836717777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ir1 which vear did he become a naturalized U5, citizen?

Options:

1. % 1974
= % 1981
3. ¥ 1939
4 % 1985

Question Number : 79 Question Id : 99836717778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which word can be best replaced by registered?

Options:

1. * Invalidate
2. % Conceal

3. % Disclaim
4. ¥ Catalogued

Question Number : 80 Question Id : 99836717779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich word from the passage reans contention?

Options:

1. ¥ Disputes

= % Consolidated
3. # Expand

4 % Broadraster

Question Id : 99836717774 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Juestion Label - Comprehension



Read the following information carefully and answer the given questions:

Keith Rupert Murdoch is an Australian-born American media mogul who founded News Corp Murdoch's
father, Sir Keith Murdoch, was a reporter and editor who became a senior executive of The Herald and Weekly
Times publishing company, covering all Australian states except New South Wales. After his father's death in
1952, Murdoch declined to join his late father's registered public company and created his own private
cormpany, MNews Lirtuted.

In the 19505 and 1960s, Murdoch acquired a number of newspapers in Australia and MNew Zealand before
expanding into the United Kingdom in 1969, taking over the News of the World, followed closely by The Sun.
Inn 15374, Murdoch mowed to Mew York City, to expand into the U5, market; howeyer, he retained interests in
Australia and Britain. In 1981, Murdoch bought The Tirmes, his first Eritish broadsheet and, in 1985, became
a naturalized 1.5, citizen, giving up his Australian citizenship, to satisfy the legal requirement for 1.5,
telesrision network: ownership.

Ir1 1386, keen to adopt newer electronic publishing technologies, Murdoch consolidated his UK printing
Operations in Wapping, causing bitter industrial disputes. His holding cormnparny News Corporation acquired
Tweentieth Century Fox (1985), HarperColling (1989), and The Wall Strest Journal (2007). Murdoch formed the
Eritish broadcaster ESkyE in 1990 and, during the 19905, expanded into Asian networks and South Armerican
television. By 2000, Murdoch's News Corporation owred over 800 Cormparnies in more than S0 countries, with
a net worth of over $5 billion.

In July 2011, Murdoch faced allegations that his companies, including the News of the World, owned by News
Corporation, had been regularly hacking the phones of celebrities, rovalty, and public citizens. Murdoch faced
police and government investigations into bribery and corruption by the British governument and FEI
inwvestigations in the 1.5,

Sub questions

Question Number : 76 Question Id : 99836717775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which vear did Keith Bupert Murdoch’s father die?

Options:

1. % 1950
2. ¥ 1952
3. % 1953
4 % 14951

Question Number : 77 Question Id : 99836717776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
IMNarne his owr created private cormpany.

Options:

1. % The Herald

2. % DMNews Corporation
2. ¥ DMews Limited

4. % No Ophon 15 Correct

Question Number : 78 Question Id : 99836717777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ir1 which vear did he become a naturalized U5, citizen?

Options:

1. % 1974
2% 1931
2 ¥ 1989
4 = 1935



Question Number : 79 Question Id : 99836717778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which word can be best replaced by registered?

Options:

1. % Invalidate
= % Conceal

3. % Disclaim
4. ¥ Catalogued

Question Number : 80 Question Id : 99836717779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich word from the passage reans contention?

Options:

1. ¥ Disputes

2. % Consolidated
3. #® Expand

4. % Broadraster
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Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 99836717780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

o Ty areg & T e @ o
Temm

Options:

1. ¢ g + 90
o % fTwm 49w
. % fEm+aw
4 % T+ 9@

Question Number : 81 Question Id : 99836717780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

o T Sre o ST Teie @ e S
e

Options:

1. ¢ g + 9|
o % fom o+
Z % M4 o9
4 % T+ 99

Question Number : 82 Question Id : 99836717781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tomr T e # YR T 3 w0 & UEeT S

ATToAekT STUT T5T H M- qei® oad! 5]
Options:

1. % Turarrer T ferdmor

2. o Ui T e

3. % giEarEe e e

4. ® FIAaEE TR T

Question Number : 82 Question Id : 99836717781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ta T ey # Yt T 3 ¥ &1 uge i

ATCART ST 5T H Mdge® oad ! 8
Options:

1. % T[T TR T

o, ¥ T T fEdmor

3. ® gieAmEEE T T

4, ¥ FAcEer T T



Question Number : 83 Question Id : 99836717782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T # & AT 59T B 17 87

Options:

1. % 199
2. % SO
3. ¥ aET
4 ® AR

Question Number : 83 Question Id : 99836717782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrgfetiaT & & Arfdaraes G119 | 27

Options:

1. % 1=
2. ® SO
39 aEr
4, ® EFw

Question Number : 84 Question Id : 99836717783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T & IRTefe TR 9T SETEe S | 87

Options:

1. % ol = g @

2 ® argd TaT gl

3. gad AR d qeaw e
4. % e gET TR A

Question Number : 84 Question Id : 99836717783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT o & IRl T #7 Je e R | ey

Options:

1. % JEetard g @

2 % A ara

3. ' O AR & pEEE e
4. % ITET EIE AT R

Question Number : 85 Question Id : 99836717784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ta oy A # fok wem & O d

URT | Trefar-Te e ______ BIGE A RARE T
Options:

1. ¥ magar

o E'FQ-:?-TI



3% oo
4. % srgoE

Question Number : 85 Question Id : 99836717784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Terr g AR f Tl w E gid drem

Options:

1. ¥ game
2 % H'Fﬁ_ca
3% T

4 ® arqsEHET

Question Number : 86 Question Id : 99836717785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tl o & @1 a1 g T geg 7 5 87
Options:

1. % zw- arfiw

2 % g - ik

3 ¢ amEd - oA

4 ® FE - T

Question Number : 86 Question Id : 99836717785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T # & 919 a1 g BT geg 7 51 57
Options:

1. % zp- a1

2 % o - ok

3 ¥ @ - e

4 ® FdT - I

Question Number : 87 Question Id : 99836717786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T o = F T U IRE deg @ T d e

Terelt FTAATR T U AR

Options:

1. ¥ argared
2. % T
3. % mmede
4 % gegh

Question Number : 87 Question Id : 99836717786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



T T e 3 T e SR sres T E
Terelt FTdaTE T O Ag i

Options:

1. ¥ argare
2, % T
z % mmefa

4 % FEghd

Question Number : 88 Question Id : 99836717787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T2 T STeg o7 TAI9dE T = @ik

AT

Options:

1. % SFemura
2 % gcg

3 % =g

4. ¥ JUTRR TdT

Question Number : 88 Question Id : 99836717787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
a0 T Teg, &7 T4 AT S

TRAT

Options:

1. % SeAwdTT
2 % I

z % =

4, ¥ U wAT

Question Number : 89 Question Id : 99836717788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR, T, ST ST Fe-1g T e o 87

Options:

1. % arfermor

2. % e wHE
3. Ha TRE
4. % Fared FRE

Question Number : 89 Question Id : 99836717788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TR, TEHT, ST S71S el TF TR 4 37
Options:

1. % arrero

2. % SMTIT WG



3. ¥ Oy RE
4 ® ety wew

Question Number : 90 Question Id : 99836717789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Te T e T sigare A1 i

T
Options:
1. % mHaids
o, % AT
%, o g
4. % FgH=CE

Question Number : 90 Question Id : 99836717789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T I ST, T gee AT S

TN
Options:
1. ® Franiigs
o ® g
2. & T
4. % FHaTCiE

Question Number : 91 Question Id : 99836717790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ToTT T TR T areieg AT S
FTHAT A5 d & ol

Options:

1. % | et arghy
2 % g Haeft ey
3. TeiTT Heredt argig
4. % T dardl STy

Question Number : 91 Question Id : 99836717790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TETT T AT T areig ST
AT F5d g™ ol

Options:

1. % g aeet sy
2 ® g Haell arghy
3. TR Hareit argig
4. % T Hardl sThg



Question Number : 92 Question Id : 99836717791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TRfcET § & F19 A7 Ie15e0 300 T8 & 51 57
Options:

1. % # =1 | g g

2. % N7 A e 8

3 % AR AT A

4. A T T A

Question Number : 92 Question Id : 99836717791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

it & & %17 |7 IEIE 90 1Y o 51 87
Options:

1. ® # @1 | g g

2. % T W TE B

2 ® T Tt 0 8

4 T EH TS A

Question Number : 93 Question Id : 99836717792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrmfeiaT ma # oy 7y = Rwedt § 6, 39 e w1 mae @ it ey m geTek & sl @ adiy §0 & oo weaT 8

3T T &7 24

Options:

1. % Fga FEa g

2. % gifargem

3. % gpd TR

4 & ST AT aRgTerT 7 5 gAm

Question Number : 93 Question Id : 99836717792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tt g # T my o Rt # 9 39 ey @ ae o S Ry m grTe F ol F S9ay w7 8 s aaT gl

el 7 & &

Options:

1. % ggT FE 2

o % gifargrm

3. % ggd =R

4 ST AT aRgTErET 7 5 A

Question Number : 94 Question Id : 99836717793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



TrmfeiaT ma # oy 7y = Rwedt § 6, 39 e w1 mae @ it ey m geTek & sl @ adiy §0 & oo weaT 8

T FT HE FHT T

Options:

1. 310 T e & ET g
2. % T FWT = A

3. ¥ AqgT & dow a1d HeA
4. % TIET & SET S

Question Number : 94 Question Id : 99836717793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tt g # T my o Rt # 9 39 ey @ ae o S Ry m grTe F ol F S9ay w7 8 s aaT gl

Y T HET AR 310

Options:

1. ¥ 2o @t e & g1 B
2. % O F AF =6l A

3. ® AT | I@T o1 BT
4, % T & AT N

Question Number : 95 Question Id : 99836717794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T, e anf 3 o e o g s i g &2
Options:

1. % HywaEs

2 ® fdam

3 % JiEE

4. & feerm

Question Number : 95 Question Id : 99836717794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

T, Tidar anrfe @ oty T Terrer e a1 it g1 87

Options:

1. % gy
> % Ao
3. % wmiEw

4 TeERm
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Sub-Section 1d: 998367953
Question Shuffling Allowed : Yes

Question Id : 99836717795 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)



Juestion Label - Comprehension
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Temelt W T T 81 56 W o Tt it g ST 21 g Wi o7 Hget O e 81 S/ wwd A e 8 a7 fmet Ik
ATH gl A1 G- THF T=al & ST S-S AT, @H & AT THege &< 15d 8l Ual dal &, HHI Ig ART #T o7y &7 21 [Ceel
T WO AT & gT oo it we e, AWt St i T SR B9 51 (5a7 81 JgT ferawadr e w1 et § aRT
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Sub questions

Question Number : 96 Question Id : 99836717796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
U TR T e T 87
Options:

1. & R & T - el

2 R TEEet T

3 ® Tl fgmaral &

4. R TEEet @ ae

Question Number : 97 Question Id : 99836717797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
S| TR Fie W%'?

Options:

1. % g
2% T ®1
3. % fora
4 % @

Question Number : 98 Question Id : 99836717798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tawelt # Torey mae o TE0amT Heer 27
Options:

1. % T i

2 Tdeaeaoa

3 % FAET '

4 ® geEareqod

Question Number : 99 Question Id : 99836717799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TEww T T TG & T FXI o Toll] T ST ATe?
Options:

1. % &= Zhg @

2. ¥ Tl T FET A7 g



3. % g T HAmE
4, ¥ FETEE =EEn

Question Number : 100 Question Id : 99836717800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tamalt # T 317 AT & ST e aaa T 57
Options:

1. % J&ame

2 ¥ HEr
S ¥ gawsEn
4. % oer

Question Id : 99836717795 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)
Cuesticon Label | Comprehension

TET T Tl 1 e aqmgder 0g o wedf & Jg7 3¢

Tt 9 o1 TFTelT 81 40 e 7 el T T ST 81 Tg WIRd o Fg el § & e 21 Sy e At e 8 o fawet Fmht
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ey WO AT & AgT oo 0t wadi=il, A&, Gal oTie @ AR 5197 51 45d7 81 JgT fcPaed L [Hr §em 81 feel § 97T
0 GG GH] T o FTATY TS HTH = o T a7 51 Tawell oigd 51 g-40 81 g1 sFieh J2 41 , =1
T T AT 81 Tewe! H 5T de 59 514 UC T B @i 5 o - T, WGH, &G d | e, et arie) fewe
T 5 T & GF T ° 57 a9 & a_-ngﬂ'l'ﬂqfﬁ— BT o W S AW U e 51 fem-nid o agd srmrert
Eﬁﬁa%m:rﬂa‘ el B TFE 5T e AT am=T ofte iRt & o Tmell Gerger TEwaTet ot & 9T TG aTet T SfenT §1
HIA

Sub questions

Question Number : 96 Question Id : 99836717796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T T e T 87

Options:

1. & qRT & e - Fe T
2 % fawel @ W

3 ® Tl EAaraAl &

4 % faEel T o

Question Number : 97 Question Id : 99836717797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Srel | [T e F‘I%'?

Options:

1. % giaar
2. W T W
3 % gore
4 % @

Question Number : 98 Question Id : 99836717798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
TemetT | 1o menTe o T \eT &7
Options:

1. ® g Aoy

o Traeaoa

3. % ToET wq0T

4. B FEATEIOL

Question Number : 99 Question Id : 99836717799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tewet 1 TIGTT & T ol o Toll] T st AT A7
Options:

1. % o 2Irg /e

o ¥t T WET 2T B

3. % el T e

4, ® @ =

Question Number : 100 Question Id : 99836717800 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tomal! /T 31T T & SEeT el aad T 57
Options:

1. % 3=

o & HEr

3. ® gmgwEn

4 % 7w
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Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 99836717801 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Two independent events A and B are such that P(ANB) = = P(A°n Bf) = i and P(A) > P(B) . Then find P(4) :

6'
Options:
1

1.9 2

| B

o
@
w | =

Question Number : 101 Question Id : 99836717801 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1

S TaaT geal A 3R B ¥l § S P(ANnB) =2, P(A°nB)=: IR P (A) > P (B) ¥I A P (A) #
@t
Options:
&
1.¢ 2

w | = W[k

L



Question Number : 102 Question Id : 99836717802 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

LetF(x,y)=0,1fy<e ™ andF (x,y) = 1. If y = e™* . then F is NOT a probability distribution function because:
Options:

1 « it is discontinuous

- % it is monotone inxand iny

- % it is not right continuous inx and in y

4 % it does not satisfy

Question Number : 102 Question Id : 99836717802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT &, Fr,y) =0, I y<e™ 3R Fx,y)=1.3@T y=e*, § d F U5 THAT 994 Fod
(B wFee) =67 & Faife:

Options:

. » I8 HEAT gl

.« TE x R y Fr TG vl g

.« TE x 3Ny 7 T R 7@ g

4 TE A AL FT g

Question Number : 103 Question Id : 99836717803 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Let X and Y be independent and identically distribute random variables such that P(x =0)=P(X = 1) = g Let
Z=X+Y and W = |X — Y| . Then which of the statement is NOT correct?

Options:

¢ X and W are independent

DR

- = Yand W are independent

3 « Z and W are uncorrelated

4 # Zand W are independent



Question Number : 103 Question Id : 99836717803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A &, X 3R Y & 507 #R TFEG TF, FRed W ¥ Rua sa g ew &
P(x:ﬂ):P(X=1)=§ AT &, Z=X+Y 3w W=|X-V| T #7 a1 Fa7 T 787 2

Options:

. % X 3R W =g gl

. » Y 3R W a7 g
. v Z 3R W 3usfT g

L » Z #R W T=a7

Question Number : 104 Question Id : 99836717804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Hundred Gift Coupons are marked 1, 2. 3. ...., 100 and are arranged at random. Four coupons are picked from these
coupons and are given to four persons K. L, M, and N. What is the probability that K gets the coupon with the largest
value (among K.L . M.N) and N get the coupon with the smallest value (among K. L . M.N)?

Options:

R

o=

B =

1

4@ 12

Question Number : 104 Question Id : 99836717804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ot e o 1, 2, 3., 100 & &7 7 RAFAa § 3R FEd &7 § W g1 59 FO4 A ¥ 90 FI4
3BT AT g AR K, L, M, 3T N s ox cofFaal & v o 8] o #ar §9aar & & K &r ga9 52
T F 97 (K L, M, N F &) 3R N & §88 X 50 & 39 (K, L, M, N & @) fFeem?

Options:




&= e

1
2

1

4 & 12

Question Number : 105 Question Id : 99836717805 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A normal population of wild animals in a forest has a mean of 0.1 and standard deviation of 2.1. Find the probability
that the mean of sample size 900 will be negative?

Options:
1. ® 0.7064

5 « 0.0764
5 % 0.6407

4 % 0.4607

Question Number : 105 Question Id : 99836717805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TeF ST H STell SIS0 7 ATYHUT EEr &7 AT (mean) 0.1 3T A+ &= 2.1 &1 537 g raa
F g& & FAAT 3MHN 900 H AT (mean) AHNIcHS BIT?

Options:

. = 0.7064
., « 0.0764
2 % 0.6407

4 = 0.4607

Question Number : 106 Question Id : 99836717806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



A sample of size n(= 2) is drawn without replacement from a finite population of size N,

using an arbitrary sampling scheme. Let 7; denote the inclusion probability of the i-th

unit and m;; the joint inclusion probability of units i and j, where 1 < i < j < N. Which
of the following statements is always true?

Options:
1. L=l

- len,-jznn,lﬂ_iiﬂhf

. % My >O0Vij;l<i<j<N

, % Tl — Ty >OVij;l<i<j<N

Question Number : 106 Question Id : 99836717806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

n(=2) $§ AN H Th Fefe HTAd A TMel & FFAR N FHR T TRAT FET & Fema
& =T diEr 9T o, F0 T T & HoSud THEdAT AT HR m, # Tee | AR | F T
AN G AT o, 59 l<i< j< N g &= fr v fu=t # ¥ Fiqar fus 08 =0T
g2aT 87

Options:

l_ﬁzzyzlni:“

o Lymy=nml<i<N

. T > 0VLj;l<i<j<N
3.%

. L —T; > 0Vij;1<i<j<N
4.%

Question Number : 107 Question Id : 99836717807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The guaranteed average life of a certain type of electric immersion heater is 1000 hrs with a standard deviation of 125
hours. It is decided to sample the output so as to ensure that 90 percent of the heaters do not fall short of the guaranteed
average by more than 2.5 percent. What must be the approximate minimum size of the sample?

Options:



3.;,;.-*"41

Question Number : 107 Question Id : 99836717807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T ARET v & sofdes Oued £eT F 3maEg Eg FaT 1000 9 § S 125 O F AAE
ﬁw#m%aﬁmmm%ﬁ:mxga T FAHAT Rl T§ Flweerd & Feh b 90 dfcrerd dex
2.5 gforE ¥ 310% TEgd Aaa ¥ F7 F & 70 & T gAdH HHR FAT FlaAT AIET?

Options:

1 ® 38

> R 39
z o 41

g ® 43

Question Number : 108 Question Id : 99836717808 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Suppose X and Y are independent and identically distributed random variables and Z=X-Y. Then the distribution of Z is
in the same family as that of X and Y, if X is:

Options:
1 « normal

> % exponential

= % uniform

4 % Dheither normal nor exponential

Question Number : 108 Question Id : 99836717808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T #ifeT &5 X AR Y =07 7 v w99, FREd T=5ar ¥ Baia 5 i e afier § ik 2 = X
+ Y BT Z 7 Twor X 3R Y & §AE 9ER # & fFar ar gem afg X En

Options:
1, v WL



L % o O EEE AR A & g

Question Number : 109 Question Id : 99836717809 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If x4,X5,X3, ..., X, are the values of a random sample from an exponential population, then which of the following is
correct?
Options:
1

e Likelihood function is L(8) = (E) g8 (X2 %)

Likelihood function is L(8) = —

1
2 ® g2

—X

The maximum likelihood estimator is 8

W
®

s
#
sy | e

The maximum likelihood estimator is

Question Number : 109 Question Id : 99836717809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TG x1,%2,%3, .., X, T OIS FAREAT & FA W FAS T F AT ¢, aF HeA A F Pl °7 FEr 272

Options:

1. ¢ T F L(9) = G)n.e_f nx,)
_ g F L(9)=Eiz

5 SO WU AT § 6 = —X
e HOFTH FHAEAT HJAF ¢ é‘:%

Question Number : 110 Question Id : 99836717810 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



If ax + by + ¢ = 0 is the line of regression of y on x and a,x + b,y + ¢; = 0 is the line of
regression of x on y. then which of the following is correct?

Options:
1 % laby| # |a.bl|

5 ® laib| < |ab,|
3 lab,| < |a,bl

4 % None of these

Question Number : 110 Question Id : 99836717810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I ax+by+c=0 SiAeaT T XM &y on x A ayx + by +e; =0 FfEeHT W E « on y F,
a fFe= 7 @ =7 @ wr &7

Options:
18 laby| # la,bl

= % |f11b| = |f1£31|

2 o lab, | < |a,b|

, . T

Question Number : 111 Question Id : 99836717811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If b, and by, denote the regression coefficient of Y on X and X on Y respectively, then what does b, = b,,, imply?

Options:

. Jy=Jx
o B ;IJ‘=1
= W p:ﬂ

4 % None of the above

Question Number : 111 Question Id : 99836717811 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

g by 3R by, F TAEEEO oTE F AT w0 §, FA Y WX IR X wY, @ b, = by, F
oita Fwar 22

Options:

I.JU}r a,,
o W p:l

5 % P=0

4 % T8 W FY & T

Question Number : 112 Question Id : 99836717812 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25

The given table shows the prices of electronic pressure cookers in the cities of Pune and Nagpur.

Pune

Nagpur
Average price 65 67
Standard Deviation | 2.5 3.5

If the correlation coefficient between the prices of electronic pressure cookers in the two cities is 0.8, then find the most
likely price in Nagpur corresponding to the price of 70 at Pune?
Options:

| % 56.5
5 % 226

4 ® 00.

fh

Question Number : 112 Question Id : 99836717812 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25

& 7% I O AR ARTR Al A soeeiEe R A A HEEr Foge g

b AT
Had 7pg 65 67
HieAsw ool 2.5 3.5

ofE a1 BN A sEeiee F A H FAG F o9 FegEsd onE 0.8 ¢, W g0 H 70 F Fem F
FTFT AR A T 30F TSl HeF H 94T T
Options:



| % 5B.5
% 226
2w 726

. = 905

Question Number : 113 Question Id : 99836717813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In a certain paired datan=18 and r=0.44

Null hyvpothesis Hy : p = 0.30

Alternative hypothesis H; : p > 0.30
Level of significance o =0.01
Which of the following is correct?

Options:
P Hy is accepted

5 % Hy is rejected
= % It is a two tailed test

4 % None of these

Question Number : 113 Question Id : 99836717813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ve fAfRea gaa 3ar &7 n = 18 3k r = 0.44 Tawsofg 9fiteesar Hy: p = 0.30,
Serfeder IeeqaT H,: p>0.30

Aged & T = 0.01

o= 7 & 7 ar gr 27

Options:

. Hy, TR femam Imm

o » Hy HEER Fam amm

o IZ Ela=org TeT (3878 ¢F) §



L« T A PE Nl

Question Number : 114 Question Id : 99836717814 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The test of simple null hypothesis Hy:0 = 6, of size @ is biased if:

Options:

., % The power function of the test assumes a value less than @ for some 8 +8,

- « The power function has a value less than @ when g =4,

The probability of accepting the null hypothesis when it is true is larger than the probability of rejecting the null
5 « hypothesis when it is true.

4 # The power function has a value greater than @ when g =20,

Question Number : 114 Question 1d : 99836717814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
v fareeotrar ofeeaar Hy:6 = 6, 0 988T0T AR o &7 98T9rar § ofe:
Options:

Za qlteror $r ufeT TR FT 0+ 6, & AT o T FF o & AG AT

. TSR BRI HOHeT o 5§ 6 =6, W HHA 1§

T IiiFeTar & R Fd #T FHEAT A9 7 29T HUE 8 et 9fteedar &r
L » ITEER FA H THEAT § 997 § 59 T TF £

, TSR FEI T Hed o = ¥ HO® g W 0 =6, § 30F g §

4 ®

Question Number : 115 Question Id : 99836717815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A factory produces 60,000 pairs of hand gloves on a daily basis. From a sample of 600 pairs, 3 percent were found to be
of inferior quality. Estimate the number of pairs that can be reasonably expected to be inferior in the daily production
process of 95% level of confidence?

Options:
| [989,2612]

, % [782,2618]



. % [882,2618]

4 % None of these

Question Number : 115 Question Id : 99836717815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

U FR@H F SFAF AU 9T 60,000 FY F AR F IS F 3AEH @ 8, 600 FE F AFAT F F
3 gfcrere €1 SUTaear & 91T 0| 37 AfEIr Fr TEIT F IGAA e, FAE &7 g 7 s Froaw
T §, HeATRAT & 95% TR & 3faw 3ouea 9far &7

Options:

| » [989, 2612]
, « [782, 2618

. « [882, 2618]

L » T ETE A

Question Number : 116 Question Id : 99836717816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The mean income of gents and ladies in a software company was 420 and 320 respectively. The mean income of gents
and ladies in that company was 400. Find the percentage of gents in the company?

Options:
, ® 65%

Question Number : 116 Question Id : 99836717816 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TP F9T H Fed AT JE FT Aremw 31T FAM: 420 AT 320 off| 37 FUAT 7 Few T 9F=
ATET 37T 400 off| Fr F g gfees s 2

Options:

| % 65%



o % 75%
2« 80%

4 % 45%

Question Number : 117 Question Id : 99836717817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The mean and standard deviation of scores of 200 cricket players in a champions trophy tournament were found to be 40
and 15 respectively. Later on it was discovered that the scores of 43 and 35 of two players were misread as 34 and 53
respectively. Find the corrected mean corresponding to the corrected figures?

Options:
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> « 39.955
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Options:

. % 39.595
- v 39.955
-  39.559

. % 39.995
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Let X,, denote the sum of points obtained when n fair dice are rolled together. Find the difference between Expectation

and Variance of X, .

Options:



n '1 5m
1 @ 21 6 |
n '1 71
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The first of the two different groups in a school has 100 students with mean score 15 and standard deviation 3. If the

whole school has 250 students with mean score 15.6 and standard deviation v 13.44 | then find the standard deviation of
the second group in the school?

Options:



4« 4
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1 % 1

2_-532
3_-533

4o 4
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Find the sum of the first four moments of the following distribution about the mean.

Options:
1. ® 10
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Correct Marks: 1 Wrong Marks: 0.25
Energy transfer is simply independent of the path being followed as per which law?

Options:
1 % Zeroth Law
> o Hess’s Law

=z % Hooke's Law

4 % Pascal's Law

Question Number : 121 Question Id : 99836717821 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
- .
Sl TAAGROT Fae 0 e & Hagaor Arend @ goa 872

Options:

1 ® mﬂﬂﬁ-’mﬁ'
. v B & s

3 R ?m
4 % TTERS F O

Question Number : 122 Question Id : 99836717822 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If relative humidity is 50% and SVP of water vapour is 2340Pa, then calculate the vapour pressure of air at 20 degrees
Celsius.

Options:

, ® 512
> o 1670
s % 1236

4 % 1112
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If the potential difference is 12kv and resistance is 1 ohm, then calculate the potential drop across the cable if power is
supplied at 150 KW to a house.

Options:

1.« 125

> % 6.25
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The equation that relates pressure to fluid's speed and height is known as:



Options:

, « Bemoulli's equation

- » Einstein’s equation

5 = Schrodinger’s equation

4 = Hooke's equation
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P 1" — " {_,""Ff" = II||' {_,-.in'.
The expression 0 0

where I is the transmitted light flux. I is the incident light flux. is associated with:
Options:

1 % Hoffman-Boltzmann’s I aw
> o Beer-Lambert’s Law

s = Schrodinger’s Equation

4 = Kepler's Law
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Which law states that an object's temperature change rate is proportional to its own temperature and the temperature of
the surrounding environment?

Options:
, « Newton's Law of Cooling

- % The Second Law of Thermodynamics

- » Kepler's Law

4 % Boltzmann's Law
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Energy flows out of a body into the environment as the temperature of the body is usually greater than that of the
surroundings. This is best explained by:

Options:
, = Enthalpy

5  EDropy

3 ® Threshold frequency

4 w Humidity
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If the Revnolds number is less than 2000, the flow in a pipe is:

Options:
1 % Turbulent
~ « Laminar

% % Transitional

4 % Streamlined
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Revnolds number signifies the ratio of:

Options:
1 « Inertial forces to viscous forces

- = inertial forces to gravity forces

5 = Viscous forces to gravity forces

4 = buoyant forces to gravity forces
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Which force does NOT necessarily act on a parcel of air in the atmosphere?

Options:
1 #% Gravitational force

-  Hydro force
%z % Coriolis force

4 % Frictional force

Question Number : 130 Question Id : 99836717830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
IETEI0T H FiF T 9 HETEF T A F A W FTT FT&r FIaT 87

Options:

. TocarRyT (AfFTerEen) T

. T F U W Sce S (GRIREHITEH) oo

, « ool (Rreereren) s

Question Number : 131 Question Id : 99836717831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The rate of flow of water through a capillary tube (assuming laminar rather than turbulent flow) is described by:
Options:

1 ® Einstein’s equation

> = Schrodinger equation

-  Hagen-Poiseuille equation



4 w Bernoulli’s Equation
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Find the energy, associated with blue light (wavelength = 500 nm), needed photo synthetically to activate one mole of a
compound.

Options:
1 % 1.4 %1057

5> o 2.4 % 105]
5 % 3.4 % 105]

4 % 4.4%105]
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Options:

% 1.4 x 105J

o v 2.4 x 105J



2 % 3.4 x 105J

. 4.4 x 105
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WNatural uranium is a fissile material. It consists of:
Options:

. isotopes 235U (1.7%) and 238U (98.3%)

L .

> % isotopes 238U (0.7%) and 235U (99.3%)

5 w isotopes 235U (3.7%) and 238U (96.3%)

4 « isotopes 235U (0.7%) and 238U (99.3%)
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Options:

| » WEER (isotopes) 235U (1.7%) R 238U (98.3%)
, « THEAMAF (isotopes) 238U (0.7%) 3K 235U (99.3%)
. « WEEATR (isotopes) 235U (3.7%) 3T 238U (96.3%)

, » TEETR (isotopes) 235U (0.7%) 3T 238U (99.3%)
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The role of a coolant in a nuclear fission reaction is:
Options:
The coolant in a nuclear reactor is used to remove heat from the nuclear reactor core and transfer it to electrical
. « generators and the environment.

- w The coolant regulates the amount of neutrons.



- % Ihe coolant acts as a catalyst.

4 = The coolant stops the reaction.
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Which of the following is NOT used as a moderator in a nuclear fission reaction?
Options:

1« Boron

5 % Heavy water

= % Water

4 % Carbon
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The total number of magnetic field lines passing through an area is called:

Options:
1 % emf

- w magnetic flux density

5  Magnetic flux

4 % Vvoltage
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Options:

, 9T fagga ag+ 59 (EMF)

Y

. 9Erg HHETE °=tcd (magnetic flux density)

2

i TEra AR (magnetic flux)

., % 3T (voltage)
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Who defined entropy in terms of the probability (W) of the number of ways in which energy distributions can be
generated?

Options:
1 % Hess



> % Hooke

- = Schrodinger

4 + Boltzmann
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This involves the recombination of free electrons with positive ions forming one excitation process while direct
collisional electron impact provides another. The above description defines which of the following events.

Options:
; = Fire light effect

o o Aurora
z % Solar fire

4 % Meteor shower
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. » A TR 9= (Fire light effect)
2iad gag ST (Aurora)
. % B F==rer (Solar fire)

, % 3% g€ (Meteor shower)
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Relative Humidity is:

Options:

« SWVP at dew point / SVP at room temperature

e o

-  SVP atroom temperature / SVP at dew point

- % SVPatroom temperature per degree Celsius change

4 % SVPatdew point per degree Celsius change
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Magnitude of induced emtf is proportional to:

Options:



, w Tate of change of current

- u rate of change of voltage

-  rate of change of magnetic flux linkage

4, = rate of change of resistance
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What causes maximum damage to the ozone layer?

Options:
1 % Forest fires

-  Supersonic aircraft and rockets

- % Vvolcano eruptions

4 % Deforestation
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leakage was the cause of the Bhopal gas tragedy in 1984,
Options:

 w Methyl isocyanide



> % Ammonia
%z % Carbon dioxide

4 « Methyl isocyanate
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National Environmental Engineering Research Institute is in

Options:
1 % New Delhi

- % Ahmedabad

= % Chennai

4 Nagpur
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UV radiation can cause;
Options:

1 « Skin cancer

> % Bone marrow depression

- w Infertility in humans

4 = Pulmonary dysfunction
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The correct sequence in terms of toxicity is:
Options:

| « Arsenic > cadmium > methylene chloride



- w Cadmium > arsenic > methylene chloride

- w Methylene chloride > cadmium > arsenic

4 = Methylene chloride > arsenic > cadmium
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World Environment Day is celebrated on:

Options:
i« 5% June

and

April
16™ September

4 B 1 July
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Diesel exhaust is the main source of three highly toxic pollutants that have a widespread impact on urban air quality and
human health. Name them.

Options:

. « Suspended particulate matter (SPM). sulphur dioxide. nitrogen oxides

» % Lead, NOx, CO;

- = Sulphur dioxide, ammonia. benzene

4 % SPM, benzene

Question Number : 147 Question Id : 99836717847 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 148 Question Id : 99836717848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The weakest acid among the following is:

Options:
1. % HI

-~ % HBr

4 ® HF

Question Number : 148 Question Id : 99836717848 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 149 Question Id : 99836717849 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Blue baby syndrome is caused by:

Options:
1 % Pesticides

- #% Fluorides
= « Nitrates

4 % Lead

Question Number : 149 Question Id : 99836717849 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 150 Question Id : 99836717850 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Surface tension of pure water is approximately dyne/cm at normal room temperature.

Options:
1 ® 08

[N
#
LA
(e

Question Number : 150 Question Id : 99836717850 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 151 Question Id : 99836717851 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which method is suitable for desalination of water?
Options:

, = Coagulation and flocculation



> % Sedimentation
z « Reverse osmosis

4 % Nano filtration

Question Number : 151 Question Id : 99836717851 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 152 Question Id : 99836717852 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The of water is the amount of heat that must be absorbed or lost for 1 gram of water to change its temperature

by 1°C.
Options:
; = Specific heat

- » Latent heat of evaporation

3 « Latent heat of fusion

, = Heat carrying capacity

Question Number : 152 Question 1d : 99836717852 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

qreAT T Tg dI9HT & 98 A & JT 96T & J9HF H 1°CH 8§ o & o 3gaig
I FoF T HGTF BT B
Options:

. = faf¥rse Fear



5 % TS T HeOFd FSA]

- v TIAT Fr Fgeg FAT

, O Fge &THAT

Question Number : 153 Question Id : 99836717853 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following Indian Standard for Drinking Water parameters is incorrect?

Options:

, ¢ Turbidity =25 NTU

> #% Colour=35 Hazen
% % Total Coliforms =0 MPN/100 mL

, % TDS=500mgL

Question Number : 153 Question 1d : 99836717853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

. Turbidity = 25 NTU

o B ijT:Em

Fel FferpEd = 0 MPN/100 mL

#

TDS = 500 mg/L

o
s

Question Number : 154 Question Id : 99836717854 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What would be the pH of a solution with a hydroxide ion (OH™) concentration of 107107

Options:
1 ® 10



Question Number : 154 Question Id : 99836717854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 * 10
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Question Number : 155 Question Id : 99836717855 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Photochemical smog occurs in warm, dry and sunny climates. Which of the following is NOT amongst the components
of photochemical smog?

Options:
NO-

3.9

> % O3

5 @ SO0

4 = Unsaturated hydrocarbon

Question Number : 155 Question Id : 99836717855 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 156 Question Id : 99836717856 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Higher incidences of heart disease in smokers is related to high content of:

Options:
CO;

3.9

o R CO

Question Number : 156 Question Id : 99836717856 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 157 Question Id : 99836717857 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT an examples of physical parameters?
Options:

; = Turbidity



> o Total dissolved solids

5 % Temperature

4 % Colour

Question Number : 157 Question Id : 99836717857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 158 Question Id : 99836717858 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following equilibrium,

HbO, ~CO === HbCO+0,, AG=<0
Options:

| « Oxygen-carrying capacity is reduced

Oxygen-carrying capacity is increased

M
51

Addition of H,O makes AG more negative

®

Temperature has no effect

o
5

Question Number : 158 Question Id : 99836717858 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 159 Question Id : 99836717859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
*Acid rain’ means the pH of rain is:

Options:
1 % below 7

> « below 5.6
= % above 7

4 % above 9

Question Number : 159 Question Id : 99836717859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 160 Question Id : 99836717860 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the non-greenhouse gas (GHG) from the following:

Options:



1 % Methane
- % Nitrous Oxide
Sulphur Hexafluoride

4 « Carbon Monoxide

Question Number : 160 Question Id : 99836717860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 161 Question Id : 99836717861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who demonstrated that life arises only from pre-existing life forms and dismissed the theory of spontaneous generation
of life. for the first time?

Options:
1 « Louis Pasteur

> % S L Miller
% % Charles Darwin

4 w Oparin and Haldane

Question Number : 161 Question Id : 99836717861 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

forae RGmmar fF e s 92 @ HAisg Fiea w6 & 309 giar ¢ 3R 9ger aR SiEa #r 'ge 9
F e & @i &= e

Options:

o T8 TER

Ty T AT

ra
®

=z B Wgﬁﬂ
4w HIE AR g

Question Number : 162 Question Id : 99836717862 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT a possible factor that can eventually lead to speciation?
Options:

1 # Variation due to mutation



-  Emigration of individual organisms

= % Gene flow

4 % Genetic drift

Question Number : 162 Question Id : 99836717862 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 163 Question 1d : 99836717863 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Name the phenomena in which some species that were introduced into new ecosystems without natural predators grew
explosively.

Options:

, « Ecological release

- u Edge effect

=z % Founders effect

4 % Crash

Question Number : 163 Question 1d : 99836717863 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 164 Question Id : 99836717864 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

About 2.5% of the water in the hydrosphere exists as:
Options:

1 « Fresh water

- % Ocean water
= % Snow and ice

4 % Water vapour

Question Number : 164 Question Id : 99836717864 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 165 Question Id : 99836717865 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the available biomass for the consumption to heterotrophs generally termed as?
Options:

, = Secondary productivity

- w Gross primary productivity



5  Net primary productivity

4 = Netsecondary productivity

Question Number : 165 Question Id : 99836717865 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 166 Question Id : 99836717866 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What percentage range of PAR is captured by plants for energy that sustains the entire living world?

Options:

, % 20-50%
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Question Number : 166 Question Id : 99836717866 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

; % 20 ¥ 50%
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4 % 75 ® 90%

Question Number : 167 Question Id : 99836717867 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the bathypelagic zone in the oceans characterized by?
Options:

« The presence of chemosynthetic bacteria and worms

DR

- « High pressure and absence of light

5 % [Ihedimly illuminated zone inhabited by sharks

4 = Sufficient light to enable photosynthesis

Question Number : 167 Question Id : 99836717867 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 168 Question Id : 99836717868 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following generally leads to decrease in population density?
Options:

; = Immigration

> w Natality



5  Emigration

4 % In-situ breeding programmes

Question Number : 168 Question Id : 99836717868 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 169 Question Id : 99836717869 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The detritus food chain is mainly made up of:

Options:
1« Dec OIIpOsers

> #% Herbivores
z % Carnivores

4 % Scavengers

Question Number : 169 Question Id : 99836717869 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 170 Question Id : 99836717870 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
An ecological pyramid showing a small standing crop of phytoplankton and large standing crop of zooplankton is an
example of which of the following?
Options:
, » Pyramid of numbers

5 % Pyramid of energy

- » Erect pyramid of biomass

4 « Inverted pyramid of biomass

Question Number : 170 Question Id : 99836717870 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 171 Question Id : 99836717871 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of these is NOT an example of a gaseous type of nutrient cvele?
Options:

1 % Carbon

5 % Oxygen



5  Phosphorus

4 = Nitrogen

Question Number : 171 Question Id : 99836717871 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 172 Question Id : 99836717872 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the percentage of salt concentration (measured as salinity in parts per thousand), generally in inland waters?

Options:
, % 30-35%
> % Greater than 35%

= % Greater than 100%

4 « Less than 5%

Question Number : 172 Question Id : 99836717872 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 173 Question Id : 99836717873 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following tvpes of organisms are able to maintain homeostasis by physiological means. which ensures
constant body temperature and constant osmotic concentration?

Options:
, w Partial regulators

-  Regulators

z % Conformers

4 = Migratory

Question Number : 173 Question Id : 99836717873 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 174 Question Id : 99836717874 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
WNatural gas consists almost entirely of:

Options:
1 « Methane

- % FEthane

= % DButane



4 % Propane

Question Number : 174 Question Id : 99836717874 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 175 Question Id : 99836717875 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The application of plants to aid in the clean-up of hazardous waste sites is called:

Options:
1 % Bioaccumulation

- % Biloremediation

5  Phytoremediation

, w Phyto concentration

Question Number : 175 Question Id : 99836717875 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 176 Question Id : 99836717876 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The *good ozone’ that acts as a shield from UV radiation is found in which strata of the atmosphere?

Options:
, % Troposphere

-  Stratosphere

5 u lonosphere

4 = Radio sphere

Question Number : 176 Question Id : 99836717876 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 177 Question Id : 99836717877 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is also responsible for the El Nino effect?

Options:
1 % Afforestation

> o Excessive use of fossil fuels

% % Reduced deforestation



4 = Slowing down of the growth of human population

Question Number : 177 Question Id : 99836717877 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 178 Question Id : 99836717878 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following atoms, released from CFC’s are responsible for the degrading ozone in the atmosphere?

Options:
1 % Carbon

5 % Oxygen

3z % Fluorine

4 « Chlorine

Question Number : 178 Question Id : 99836717878 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 179 Question Id : 99836717879 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following can be described as a ‘zero waste procedure?
Options:

, = Integrated pest management

- « Integrated organic farming

5 » lntercropping

4 = Crop rotation

Question Number : 179 Question Id : 99836717879 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 180 Question Id : 99836717880 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is the most suitable method of disposing hospital wastes?
Options:

1 « Incinerators

» = Recycling

- w Sanitary landfills



4 = Composting

Question Number : 180 Question Id : 99836717880 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 181 Question Id : 99836717881 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the energy related to light (wavelength= 500 nm) needed photo synthetically to activate one mole of a compound.

Options:
1 % 3.6%x1057

> % 1.2x1057
s % 1.4%1057

4« 24x105]

Question Number : 181 Question Id : 99836717881 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e i & ve A 1 @fFT e F BT gy $r dEeTEar e gEnr ¥ gEieg Fr 99T
FIMT| (LT g = 500 nm)

Options:

. % 3.6 x 105 J
5 % 1.2 x 105 J
- % 1.4 x 105 J

L 24 x 105 J

Question Number : 182 Question Id : 99836717882 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The length of path in the atmosphere required to reduce the luminous flux in a collimated beam from a monochromatic
light source to 5% of its original value is called:

Options:

, « Meteorological optical range

-~ # Celestial optical range

- » Infrared optical range

4 = Focal optical range



Question Number : 182 Question Id : 99836717882 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
IIETER0T H 9U F FETS HT HETFAT 2l g ST Tk AlAPHEHE Tl g ¥ T gafsg 687 &
THFER TAE N STF HA & FH #T, 5% F o, $H FAT Fel AT 872

Options:

| v BT A JifeRa &3

o HTET HifCewmer

. » FRE Jiftewre &

4 % Dlhel HICeHe I

Question Number : 183 Question Id : 99836717883 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Scale height deals with:

Options:
1 # Volume

o % lemperature

= o Pressure

4 % Heat

Question Number : 183 Question 1d : 99836717883 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR Feme e @efg 12
Options:

1 & 3AMAde

gwm



Question Number : 184 Question Id : 99836717884 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A semi-empirical equation combining mass transfer (Ea) and energy budget (H) methods was developed by:

Options:
1. % Newton

- % Boltzmann
= « Penman

4 = Avogadro

Question Number : 184 Question Id : 99836717884 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
73 YA W TR0 (Ea) 3R F= a9ie (H) RO & gaee & B o 3E-3ngs seeor 59
AT TerfaT fohar =rar A

Options:

. ooddd]
1 ® o

Z. &

5 v UFHA
4 ® HaETEr

Question Number : 185 Question Id : 99836717885 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The change in entropy, through the relationship dS = dQ/T, is well defined in:
Options:

; = TheFirst Law of Thermodynamics

-  The Second Law of Thermodynamics

- % [Ihe Third Law of Thermodynamics

4 w Not defined in the laws of thermodynamics



Question Number : 185 Question Id : 99836717885 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tegrdr # gRadd, d9y dS = dQ/T, 3= otE ¥ Fearerag # oRenia G o &
Options:

|« FEARIGER & 9gel FTHA
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Question Number : 186 Question Id : 99836717886 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following oxides of nitrogen is the major air pollutant released from automobile exhausts?

Options:
1 ® NO

5w N2O

3 o N

4 = N2O3

Question Number : 186 Question Id : 99836717886 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A F e ¥ FA G AFAES FEAEEA A ¥ TFT g Aol FHF g TGN 87

Options:

1 = ND

5w DO

5 o« NO2

4 % N2Os

Question Number : 187 Question 1d : 99836717887 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Biochemical Oxygen Demand (BOD) of safe drinking water must be:

Options:
; o 0mg/L
2mg'L

Smg/L

t
i

10mg/L

Question Number : 187 Question Id : 99836717887 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e 9 F 9= F ST qEatee Hiedse S AR (SEE- A Ee Hiaaes [3A413) I8 2
BT

Options:

, « Omg/L
5 » 2mgl/L
- » omg/L

4 w 10mg/L

Question Number : 188 Question Id : 99836717888 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Sewage containing organic waste should not be disposed in water bodies because it causes major water pollution. Fishes
in such polluted water die because of:

Options:
; = Large number of mosquitoes.

- % Increase in the amount of dissolved oxygen.

5  Decrease in the amount of dissolved oxygen.

4 = Clogging of mud in their gills.

Question Number : 188 Question Id : 99836717888 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
ﬁmmﬂgﬁmmﬁmﬁmﬁmﬁﬂﬁmmaﬁtmﬁ:ﬁﬁﬁmmw
FROT AT g1 $H THFR & TET oo H AGTIN $H ST AT AT &

Options:

| w H=OU HT TE FEAT

ST9T TS ! AT HF Jha |

-
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Question Number : 189 Question Id : 99836717889 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Biochemical Oxygen Demand (BOD) is the measure of organic material present in water. BOD value less than 5 ppm
indicates the water sample to be
Options:

; « lichin dissolved oxygen

> % poor in dissolved oxygen

- % highly polluted

4 % Dot suitable for aquatic life

Question Number : 189 Question Id : 99836717889 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 190 Question Id : 99836717890 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Acid rain is capable of damaging buildings and historic monuments which are made up of rocks such as limestone and
marble. Which among the following is the end-product of such a reaction?

Options:
;, w» Quick lime

- % Calcium carbonate

- w Calcium hydroxide

4 o Gypsum

Question Number : 190 Question Id : 99836717890 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

HENT a9 gEREr AR T TRE F e A § WA § S I Towl AR A e
T § 9 A ¥ BeRfRe § § S 0 3@ w1 dfResae 2

Options:

| HUTRT

5 % HIoRAH FElAT
. % HIoWTHA FEIIFAIS

4 @ TASEH

Question Number : 191 Question Id : 99836717891 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In India, which Act was amended to include ‘noise’ as an air pollutant?
Options:

s Alr Prevention and Control of Pollution Act (1981)

-~ » Environmental Protection Act (1986)



s ® Alr Prevention and Control of Pollution Act (2002)

4 % Montreal Protocol

Question Number : 191 Question Id : 99836717891 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

IR H, 'R F TG 9GF F &7 H AfA F= F v By dfafamm 7 sgee e mr o
Options:

, T foamor 3t gewor fasor sfefaem (1981)

1

, » TAEReT HXE0T sfufFEaE (1986)

. g feamr v gguor Agser sfafaws (2002)
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, u Flleedd FIeTHid

Question Number : 192 Question Id : 99836717892 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT directly related to the phenomena of accelerated eutrophication of water bodies?

Options:
, = Presence of agricultural waste like nitrates

> u Algal bloom

=z % Increase in BOD

4 « Decreased fish mortality

Question Number : 192 Question Id : 99836717892 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 193 Question Id : 99836717893 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is generally NOT used as a catalyst in catalytic converters fitted in automobiles?

Options:
1 % Rhodium

- % Palladium
3z % Platinum

4 + Titanium

Question Number : 193 Question Id : 99836717893 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ffaa & ¥ FiF O 3H alt W ASAEST J o 30F & § F TIA6T FA7 a1 J1ar 272

Options:

1_&3m

L v TEEHTH

Question Number : 194 Question Id : 99836717894 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT considered as a parasite?

Options:
1 #% Louse

> % Ticks

5 % Tape worms



4  Female mosquitoes

Question Number : 194 Question Id : 99836717894 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
=T # 9§ #i ==Er 7@ 22

Options:

24l

2&«&3’7
T W %CFETﬁ

4 v FET 7ATOT

Question Number : 195 Question Id : 99836717895 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

According to Alexander von Humboldt, which of the following describes the relationship between species richness (S)
and area (A) on a logarithmic scale? (Where Z is a regression coefficient and C=Y an intercept. )

Options:

; o LogS=logC~+ZlogA

» u LogS=logZ+ClogA

- u LogS=logA+ZlogC

4 » LogS=logC+AlogC

Question Number : 195 Question Id : 99836717895 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

HolFest dl gFalee & IFER, AFAAIET A § Hid W TH TGEUEE A W FSaa H FHE (S)
3R IR (A) F & F FauT & J0 §? (@1 Z I o § AR CSY UE I §)

Options:

, wL0g S =log C+ Zlog A

, » Log 8 =log Z + C log A



5 x Log S =log A+ Zlog C

4, » Log S =log C + Alog C

Question Number : 196 Question Id : 99836717896 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Amongst the vertebrates which taxon accounts for approximately 50% of global biodiversity?

Options:
1 #% Mammals

> % Birds
3 « Fishes

4 = Reptiles

Question Number : 196 Question Id : 99836717896 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

FITHAT H § FiF T@1 o897 3P A7 BiFuar w1 ==mser 50% g7
Options:
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4 % O

Question Number : 197 Question Id : 99836717897 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following does NOT contribute to the carbon pool for cycling of carbon in the Ecosystem?

Options:
1 ® Dec omposition

> u Respiration

z % Combustion of fossil fuels



4 « Formation of sediments

Question Number : 197 Question Id : 99836717897 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1 ® 3JYEI

. x SETIH $US F IgA

4 TASE & TS

Question Number : 198 Question Id : 99836717898 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following are generally the pioneer species in a hydrarch succession?
Options:

; % Sedges

- « Phytoplankton

- = Rooted hydrophytes

4 » Free floating angiosperms

Question Number : 198 Question Id : 99836717898 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e & & i & Jo-9% 3TFA # 3F al | Eoh g=nfa 87

Options:

1_-53-@?

5 v UIEH HEH

5 % TCB EREIHHEH
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Question Number : 199 Question Id : 99836717899 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT generally a primary consumer?
Options:

; % Zooplanktons

- % Grass hoppers

-  Phytoplankton

4 ® Cows

Question Number : 199 Question Id ;: 99836717899 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 200 Question Id : 99836717900 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT a part of the *Evil Quartet’ that causes loss of Biodiversity?
Options:

. w» Habitat loss and fragmentation

» % Overexploitation

= # Alien species invasion



4 « Co-evolution

Question Number : 200 Question Id : 99836717900 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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